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, 1 3  2 , . . 5400: 2 = 2700 . , 
 2700  1 3.  

      ,  ,   
V:  

, ].2.3[
V
m

  
 

        31 .  

        

31  .  49. 2).  

         

 3 ,  

 3 .  

        .  

10 500 3 .  3 . 

    ,  
:  

      10 500  = 10 500 000  (  10,5 • 106 ),  
      1 3 = 1 000 000 3 (  106 3).  

        = 10 500 3 = 6

6

10
105,10  3 = 10,5 3 . 

      ,   ,  

 . ,  900 3  1000 

3 ,   0,590 3   

       ,  .  
                                                                                             

                                                                                                                    2 
  ( , t = 200 ) 

 
 , 3 , 3  , 3 , 3

 22600 22,6  2700 2,7 

 22400 22,4  2500 2,5 

 21500 21,5  2300 2,3 

 19300 19,3  2300 2,3 

. 49. 2 
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 11300 11,3  1800 1,8 

 10500 10,5 - 1600 1,6 

 8900 8,9  1200 1,2 

 8500 8,5  1100 1,1 

,  7800 7,8  920 0,92 

 7300 7,3  900 0,9 

 7100 7,1  900 0,9 

 7000 7,0  ( ) 700 0,7 

 4000 4,0  ( ) 400 0,4 

 2700 2,7  240 0,24 

                                                                                                                                3. 
  ( , t = 200 ) 

      
 , 3 , 3  , 3 , 3 

 13600 13,60   800  0,80 
 1800 1,80   800  0,80  

 1350 1,35  800 0,80 
 1030 1,03   790  0,79  

 1030 1,03   710  0,71  
 1000 1,00   710  0,71  

 930 0,93  
 t = 400 0 )  

6800 6,8 

 900 0,90  
 t = -194 0 ) 

860 0,86 

                                                                                                                
 4 

  ( , t = 200 ) 
 

    , 3 , 3     , 3  , 3 

   3,210   0,00321  (II)  
    ( )  1,250  0,00125

 (IV)     0,800  0.0008  
 ( )   1,980   0,00198    

   1,430   0,00143     
      t = 100 0 ) 0,590  0,00059 

 (  0 0 )  1,290   0,00129   0,180  0,00018 
   1,250   0,00125   0,090  0,00009 

 
 

 
1. ?  
2. ?  

3. ?  
4. ?  
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1.   2 : 22 600 3.  

?  
      2.  ( .2, 3), ,  

: ; ; .  
      3.  - , .  

,  - ?  
  4.  – .  12  

 100 3.  3  3 .  

  5. :  = 2,5 ,  = 1  ,   = 0,5   
. 53).  0,32 . . 

  4.  
 

§ 25 (22).  
       
      . , 

,  
. , .  

      , ,  
.  

       
V
m ,  

, . . 
 = V.                [4.2] 

       ,  V  
 , .  

      .  120 3.  

        2 ,  7,8 3 .     

. 

      ,  
 = V,  

. . : 
mV

                
[4.2, ] 

       V,   
, .  

      : , ,  930 .  
. 

       3 ,  0,93 3 . 

:                  :       

V=120 c 5          m= V; m = 120 3·7,8 .9363  

?

3
8,7

m
          : m = 936  

. 50. 2.  
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1. ? 
2. ?  

 
 

 
       1.    0,5 , , ?  

2. ,  108 .  
       3.   ?  
        4.   3 . , 

 3 ,  60  4 ?  
 

 
 

      . . 
, . . 

  3.  
 

 
 
     1. , , 

? ( . §§ 11, 12). 
       .  

, . 
       ,  

 
.  

        
. , ,   

.  
 1000 . 

     2.  .  
     , ,  

. . 
      , !  
       , , .  

.   
. . 

      3. .  
      ,  

.  « »  
,  

:                  :   

?
930

3
93,0

V
m         mV  V= 3

3 1000
93,0

930  1  

                                           : V=1  
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  -   
  2 ,  

  .  
 
, 

 
300 ,  

. 
 

  v 
,  
 

. 

. 51.2 
 

 
,  

 
.  

,  
. 

 
 m 
,  
 

. 
 

. 52.2 
 

        ( ) ,  
 m  v : p = mv .                       [5.2].       

 ( )  1 .  1 , 
 1 .               

 

! 

! 

!) 

) 
 
 

  

. 53.2.  
,  

,  
 ( ).   

, , ( ). 

 
   –   

. 

 (  
)         

 –   
,  

, 
 m  v

, .51.2; 
52.2; 53.2.  
   (  

) : 
 

. 

 
 

  
  

  
  

0,000 000 000 000 000 000 000 5 3.  ( , )  
 ( . . 1*   3* ).  

      .   
      : ,  

, . 
      4. .  

, , 2700  5520 3.      
     5. .  1  3   1  .   

, . ,  
 50  50 .  

, . 
      6.  « » .  

, .  
. ,   

. 
      7. . ,   

, . 
 

§ 26.  ( )  p = mv  –  
  

 
, ( ,  

),  
. .  

 v  = const –  
.    

      
,  

, .   
, 
 

,  
». 

       « » 
 « » ( . 

impulses –  « ») , 
p . 

 p  v  
.        
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1. ?  
2. ? ? 

3.  « »  « »? 
»?  

 
§ 27.  ( ) , 

.  
        p  v    m,  

,  , , 
: 

       , . . ,  
:                        

       
. 

      , ,  (  
):  

 
    1. 

      , , .   
 ( ) . 

     .  
       

 
,  

 
. 
 
 

.  
 

,  ( . 54.2, ). , ,  
,  ( . 54.2, 6).  

      , , , . , 
,  50 ,  

 360 .  .   
, , ,  
. , . 

      ,  
 ( )     

.  
 

 
 

1. ?  
?  

2.   
? ? ?  

3.  , , 
?  

                                                
1    [6.2]  [6.2]* : ,  

, . 

p = m v = const. [6.2*] 
 

  m v       =0.  p   =0 [6.2] 

, ,  
,    – . 

. 54.2.    

)  
 . 

 
. 

)  
.  

. 
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§ 28(18).  
      
     ,   

. 
 )  

 –  ,   
, .  

      .  
       ( . 
55.2); ,  

. , ,  
. , 

, , .  
.  

     ,   
  .  

 
. 

      , . , , . 
,  ,  ,  .  ;   
,  ,  .  

»  . ,  
 –  . 

      « » ,  
.     

,    
, .56.2. 

       ,  
 : 

, ,  .  
        –   

.  
       , 

,  ( .  
, § 32).  

, ,  
, .  

.  
  ( .  §35).  

        
. , 

, ,  –  
.  8  9 . 

   –  
. 

, 
  . 

                                                

. 55.2. ; .   
. ;   ,  
. . 

  

. 56.2. 
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1. ? ? 
2. .  

3.  « »  « »? ?  
4. . ? 

 
§ 29 (23).  F  –   

 
       ( )  

 .  F –  
 )  . ,  

 ,   . ,  
,  . 

    ,  ,   
!  – ,   

 – , .  
      « » ,  

 .  
  ,  

  , . 57.2. 
        . 55.2 ( ): 
 : « »  »; « »  », « »  »; 

»  »; « »  »; 
: « »  »; « »  », « »   

»; « »  »; « »  ». 
         . 58.2: : « »  »; : « »  » 
(  . ). 
      ,  

:   
 . ,   

,   
.  . 

      ,   ( !) 
 ,    

,   
!  

      ,  
.  

      , ,   ( ,  
),   – ,  

 , . . 55.2.  
 ( !). 

  F  
 

.  
, . .  ! 

. 57.2. 
 

 
 

 
F12 = –F21 

 
  

 
,  
  

 

. 58.2.   
 

.   , 
. 

 
 

F12 F21 

F12 –F21 
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      , . , , 
. , ,  
.   

                   ,         
 ( ) . 

      ),  
 ,   

 ).   
,  

.     
       ( . § 21):  

 –   ( v =const).  
    ,  (  8 

!) ,  
  

 ( v =const).    
,  .  

 ,  
. 

       : , .4.2 ). 
 –  ( ).  

  
 g=-9,8 2 .  

,  (  
 g=9,8 2) .  

       § 21 ,  
 – . .  

 . 
                    

,             ,      
  –          ,    

            . 
       ,  

.  
            ,      

  (   , ). 
     .  55.2 ( ) .   

:  .  
,  , « »,  

. ,  
.  

       . 55.2 ( )  
.   

:  (  ),   – 
 .  ,  ,   

.  
         ,  

, .       
       . 55.2 ( ) ,   –  

  .  
       . 55.2 ( )  ,   –  .   

,  ( ) .  
. 

      . , 
 , ,  

 . ,   
– « »  « ».  
 

. 59.2.  
 ,  

.  
 –  
 ( )  F, 

 , 
   

. 

m

F 

1 
3 

5 

7 

9 

11 

13 

15 

m

F 

F 

. 60.2.  F 
 – 

.  
,  F, 

  
) . 

 F
, 

 
 

 
 

, 
 

 
 

, 
 

 (
) 

, 
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      . 58.2   :    .  
, . 

: 1) , 2) , 3) . 
       ( )  

 
:  –   ( . 

59.2)   ( . 60.2).  
        

 ( )  
. 

        
, . 

31.2,( <0).    ;  (g>0).  
 ( . 15.2, )  ( . 30.2) , 

 ( >0). ,  
,  , . 83.2;84.2.   ,  

 ( ), , .  
. 

        , .  
.  

      , , , , ,  
 

. 
         

,  
, 
 
 

, . 61.2.  
        

, 
 

, . 
62.2. 
         (1 ) – ,  1    

 1 2.  -  ),  
): 1  = 1000 , 1  = 0,001 . 

      ,    
. ,  

  ,  
,    ,  

,   
.   

       
  ( ) 

  
 –  . 

       
 , . 63.2.  

       , ,  
. 

      , ,   ) 
. 

  
 

1.  ? ?   
2.            ?      

?   

) ) 

.61.2. ).  
, . ).  

, . 

. 62.2. )  
,  

. )  
, . 

 F 

F 

) ) 

. 63.2.  
?  

, .  
 

 .   
.  

   –   
,   ,  

  . 

1  

2  3  
  

 

,  
  –  , 

   
,   
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3.                 ,         ?  
.  

4.  , ?  
5.    – , ?  

?   
6.                    ,   ?  

?  
7.   ( ) ?   
8.  ?   
9.                          ?     

.   
10.  « »?  
11. ?  
12.  ?   
13. , ?   
14.  ( ) ?        

 

? 
 

V v 

.  
? 

,  
,  

? 

 
,  
. ? 

 
 

, 
, 
,  

 ? 
? 

F 

F 

F v 

F 
v 

F 

v 
v 

 F   v    

 F   v    

 F   v    
  (  

). 
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§ 30. ,  
 
       . ,  

. 
      , ,  F  ,  
F  ,  F  F   (  – . §56).  

, , :  F  F .  
       

,  
,  , 

.  
      ,  

,  
,   R 

.  
       

.  
.  

      , ,    –  R: 
R= F +F +F +F . 

        R  F1   F2,  1) 
 2) . .  

      1)  1  2   ( . 64.2, ). 
, .  

,  ( . 64.2,6).  
 3 .  

      , :  R ,  
, ,  

 F1   F2.  
       . 64.2   , ,  
R,   –  F1  F2 .   

R=F1+F2. 
      2) ,  ,  

 .   
 ( . 65.2, )  5 

. ,  
,    2  ( . 65.2,6).  

      , ,  
 3 , -

 R : 5  2 ,   
 (3  = 5  – 2 ),  

.  
     ,  R  F1  F2, 

  
,  

,  
.  

 R =F1–F2                 ( . 65.2). 
       

,  
. ,  

 ,  
.  

  

  

. 64.2.  
 – . 

) ) F1 

F2 

R 

 
 
 

0 
1 

2 

3 
4 

5 

0 
1 

2 

3 
4 

5 

) . 65.2.  F1  F2 
 

 – . 
 F2 ) 

F 1   

F 2   

R 

F1 
F1   
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 (R = 5  – 5  = 0).  
       

:  
 , . R = 0 

        . 66.2  . 67.2  F1   F2,  
. . 

      , ,  ( ) 

. ,  
 «+»  «–».  

 , . 
66.2.  

 
  

 
1. .  
2. ? 
3. , ,   

. ? 
4. ,    

?  
5.  

?  
6. , , ?  

 ( )? ? 
7. ?  
8. , ? 

  
  

 
     1. ,  70 ,  20  .   

?    
      2. .  

 330  380 ,  –  300  
400 . ,  

? .  
      3. , .  

 700 . ?  

. 66.2 ,  

,  –  ( 0); 
,  – . (  0). 

M

m 
m 

 
F1  

F2  
F1 

F2 

R 

R = F1 – F2 

 0 

 0 

 

m 

M

m 

 

R = F1 + F2 

 F1 F2 
 F1 0 F2 0 

R 0 

0 
 

)  F1  F2  

 F1  F2 
 

. 67.2, . , ! 

F1 
 F2 

 

R =F1 + F2 

. 67.2, . «  
» 

F2 
 F1 

 
R =F1 – F2 – 

+ + 

– 



 74 

       1: «  
 ( . .  

),  
». 

 

I- : 
=const  

 F  0 
 

  

m    v  =const 

§ 31.  –  
 

         XVII .  
 

  . ,  
, ,  

, ,  
.  

      ,   
, . ,  

,  
, ,  

, , .  
      ,  

, .  
       XVII .    

 «  
»1  2, 

. 
 

§ 31.1. . 
 

 
 

      .  1-   
 – : 

        
        « » : «  

, ,  
».    

: «  
.  

».  
        1-  ,   

  ( ) :  
 ),  

 ( ) , . . 
 . :  

 ( ) .  
      ?  
      ,  ( . 68.2, ), 

, .  
.  ( !) , ,  

.  
. 

      . , , . 
,  « »,  . 

                                                
1 .: « 1  2» , . . 
2 , . 
 

 
(1643 – 1727) 
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, , . 68.2, .  ,  ,   
. , . -
.  

       ,  
.  

        .  
 .  

      , , , ,  
, ),  

.  
       ( )  . 
     , :  

,  ,  ,   
, . 68.2. . ? 

,  .  
     .  ( . 68.2, )  

, .  
. .  

,  . 
      , , , 

,   ( ).  

 . 
       

  
 

1.  1 , ,  
? .  

2. ?  
. . ?  

? 

. 68.2, . 1. . 2. .  
 3. , . . 

. 68.2, . . .  

,  
,  

 ( ). 
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§ 31.2.  
 

       ,   ,  
,  

 F ,  m 
: 

m
Fa .        [7.2] 

      ,  
.  

      . 
      1.  [7.2]  ( )   F   
m .   –  ( ).  
      ,  ,  ,  ,   

.      
, ( . 53.2, ). ,   

,   ( )  . 
       2. ,  

.  
       ( , )  ,  .  

 , .15,2, .  ,    
, , ,  

.15,2, . , .   
       :  

        ( . 69.2):        

tFp   
t
pF .   [7.2, ]. 

     ,  F   

 
t
p ;    F 

  ,  t.  
     ,  ( vF mt ) ,  

0v  t=0. 
       [7.2]  [7.2, ] –  ,  

 [7.2] ,  (m = const),   
 [7.2, ],  (m  const). 

      ,  
.  [7.2, ].  

      ,   
,   ,  

. !  
, ,  

. 

 II.  p  
 F ,   t -

, . 
 

2- : 

m 

 F = ma 
  

 v 

 F 
  a 

      F  
 t  

  

. 69.2.   F t  F  t,  
, 

 . .  
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 . ,  
: , , .  

, .  
! . .  

: " ". 
 .  

 
. 

 
  1. ,   ,   
F=0.   [7.2, ] ,  =0,  =m v =const. ,  

 v =const.  
      , ,  

 , .    
 ( ),  

 .  
      , ! 
  2. , ,  , ,  

.  t 0,  [7.2,a] : 

.F
dt
pd   d = F dt.    [7.2a*] 

  . 

 
 

 (
) 

: M
= 

3m
+ 

m
 

 

t0=0 

m m 

F 

1 
3 

5 

7 

9 

11 

13 

15 

t 
t 

t 

t 

t 

t 

t 

t 

m m 
m 
m 

. 70.2.  

S   

         F    
,   . 70.2.  

       ( )  M  
 (  ):  M 

= 3m +  m.  F,  ,   
 ( . § 33) ,  F 1  F 2   

  F =F 1 – F 2= (3m–m)g.  g =9,8 2  ( . § 34). 
       ( ),  

 F.   
 (  

 t)  
. 

      ,   , 
   t, 

 ( S1=1; S2=1+2=3; S3= 3+2=5; S4=5+2=7; S5=7+2=9 . .) , 
,  (v1= S1/ t; v2= S2/ t; v3= S3/ t; 

v4= S4/ t . .)  
 (1; 3; 5; 7; 9 .  .).  ,   

 t  S  v 
  (  2 S1  2v1 ).  

 .   
  = 2v1/ t.  F.  

      ,   
F= . 

      ,   
.  

;   
( . §66). . 
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2. ? 
3. ? 
4. ? 
5. ?  
6. ? 
7. ? 
8. ?  
9. ?  

?  
 

§ 31.3.  
 

      : 

      : 
F21 = – F12.     [8. 2] 

        .  
  , ,  

 § 29,  
. 

        . 71.2 ( .   57.2)  
 1  2.      

        1  2 :  
      F21 ) –  ,  2   
1( ); 
      F12 ( ) –  ,  1   2 

). 
       F21  F12 – ,  
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 ).   
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       . 61.2.  ( !),  
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. 73. 2. « ?»  
 2   3  
  1,   1   2  

.   
   3! 

 
. , ? 

F12 = – F21  

1 
2 

.74,2.  
 

 F21              
 F12 
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1 
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 ( ). 
 

. 

F12 = – F21 
1 2 1 

. , ,   –  «  – 
»,   «  – ». , ,  

 ( , )  
 «  – » ( , ).  «  

»  « »,  ,  
, .  

      3.    F12 ,    F21   
, .74.2.  

     4. . 75.2   ( ),  
.  .  ,  .55.2. , 

. , ,  
 .  «  – »;  «  – »; «  – »; «  – ». 
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